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fzpjk;juk; - 08 Neuk;: 2.00 kzpj;jpahyk;

aho;g;ghzk; ,e;Jf; fy;Y}up
Kjyhk; jtiz kjpg;gPl;L guPl;ir - 2022

v vy;yh tpdhf;fSf;Fk; tpil jUf. 

01. 11> 14> 17> .........> ......... vd;w vz;;Nfhyj;jpy; mLj;J tUk; ,uz;L vz;fisj; jUf.

02.                vDk; Nfhzq;fspy; epug;GNfhzr; Nrhb xd;wpd;

 ngaiuf; Fwpg;gpLf. .................................................... 

03. ngWkhdk; fhz;f. (-12) - (-18)

 

04. cUtpd; Rw;wsitf; fhz;f.

05. milg;G ePf;fpr; RUf;Ff.

06. RUf;Ff.

07. ngh.fh.ng If; fhz;f. 8x, 12xy, 20xyz

08. 3.04 t I kg ,y; jUf.

09. jPu;f;f 2x - 3 = 11

10. 4x�y� I ngUf;fj;jpd; tYthfj; jUf.
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11. ngWkhdk; fhz;f.

12. gpNsw;Nwhtpd; jpz;kq;fs; ,uz;L jUf.

13. 3 ́  7 ́  11 = 231 vdpd; 231 vj;jidahtJ Kf;Nfhz vz; vdf; fhz;f. 

2022 2021
14. ngWkhdk; fhz;f. (-1)  - (-1)

15. P = {"CANADA" vDk; ngaupYs;s vOj;Jf;fs;}
 vdpd; njhil P ,d; %yfq;fis vOJf.

16. RUf;Ff. 50 - 0.12 ́  10

17. rJuk; xd;wpd; Rw;wsT 5a myFfs; vdpd;> mjd; gf;fk; xd;wpd; ePsj;Jf;Fupa ml;rufzpjf; 
Nfhitiaj; jUf.

18. ngWkhdk; fhz;f.
3 2

 2 ´ 3

19. xOq;fhd jpz;knkhd;wpd; cr;rpfspd; vz;zpf;if 6> tpspk;Gfspd; vz;zpf;if 12 vdpd; mj; 
jpz;kj;jpd; ngau; ahJ?

20. Nfhzk; x If; fhz;f.
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v tpUk;gpa Ie;J tpdhf;fspw;F kl;Lk; tpil jUf.

01. a. Fr;rpfisg; gad;gLj;jp xOq;fikf;fg;gl;l Nfhyq;fs; fPNo fhl;lg;gl;Ls;sJ.

   1)   2)    3)

 i.  xt;nthU Nfhyj;jpYKs;s Fr;rpfspd; vz;zpf;ifiaj; jUf.

 ii. ,f; Fr;rpfspd; vz;zpf;ifia vz;Nfhykhfg; gad;gLj;jp nghJ cWg;ig vOJf.

 iii. 12MtJ Nfhyj;ij mikg;gjw;Fj; Njitahd Fr;rpfspd; vz;zpf;ifiaj; jUf.

 iv. 105 Fr;rpfisg; gad;gLj;jp vj;jidahtJ vz;Nfhyj;ij mikf;fyhk;?

 b. ngWkhdk; fhz;f.

 i.  (-18)  -  (-25)  +  (-17)    ii. (-12)  ́  (+20)  ́   (+18)

                   (-15)  ́   (+36)                 

 
                      (2+2+2+2+2+2=12 Gs;spfs;)

02. a. jug;gl;Ls;s cUitg; gad;gLj;jp gpd;tUk; tpdhf;fspw;F tpil jUf.

   

  i. AJ = GF = 9cm vdpd; HI ,d; ePsj;ijf; fhz;f.

  ii. NkNy jug;gl;Ls;s cUtpd; Rw;wsitf; fhz;f.
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 b. 1 + 3 + 5 + ......+ 43 + 45 tiuAs;s xw;iw vz;fspd; $l;Lj;njhif vj;jidahtJ rJu 
vz;zhFk;.

 c. ngWkhdj;ijf; fhz;f.

  i.   3 ́  3 ́  5 ́  5      ii.  324  

                
                          (2+4+2+2+2=12 Gs;spfs;)

03. a. fPNo jug;gl;Ls;s cUtpy; AE Xu; Neu;NfhlhFk;.

   

  i.  AOC ,d; kpifepug;G Nfhzj;ijg; ngaupLf.

  ii.  a + b = 50� vdpd; AOB If; fhz;f.

  iii. DOE  If; fhz;f.

 b. Neu;NfhLfs; AB , CD vd;gd O ,y; ,ilntl;Lfpd;wd.
 

          i.  Nfhzk; x If; fhz;f.

           ii. Nfhzk; y If; fhz;f.

           iii.  AOC If; fhz;f.  

           
                        (2+2+2+2+2+2=12 Gs;spfs;)
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04. a. rJuKfp xd;Wk; mjd; xU Kfj;jpd; gug;gstpw;F rkdhd rJug;gug;gsit mbahff; 
nfhz;l ,uzL;  rJu mbf$; kg; qf; Sk ; rJuKfpapd ; vjpuK; fqf; spy ; rJu mbfs ; xdW; ld; 
xd;W ,izf;fg;gl;L xU $l;Lj;jpz;kk; cUthf;fg;gl;lJ. mj; jpz;kj;jpd; cr;rp> Kfk;> 
tpspk;G vd;gtw;wpd; vz;zpf;ifiaj; jUf.

 b. xOq;fhd gd;dpUKfp vDk; jpz;kj;ijg; gad;gLj;jp gpd;tUk; tpdhf;fspw;F tpil jUf.

  i. xU Kfj;jpd; tbtk; ahJ?

  ii. ,j;jpz;kj;ijg; gad;gLj;jp xapyupd; njhlu;ig tha;;g;Gg; ghu;f;f.

 b. fhuzpg;gLj;Jf.

2 2 2 
  i. x  + x       ii. 4m n - 6mn + 10mn

 
                            (3+2+4+1+2=12 Gs;spfs;)

05. a. fil xd;wpy; tpsk;gug; gyifapy; fhl;rpg;gLj;jg;gl;l mwpTWj;jy; fPNo jug;gl;Ls;sJ.

 gpd;tUk; tpdhf;fspw;Fupa ml;ru fzpjf;Nfhitia vOJf.

  i.  kh 1 kg, rPdp 1 kg ,d; nkhj;j tpiyf;Fupa Nfhitia jUf. 

  ii.  rPdp �⁄�  kg, gUg;G �⁄�  kg ,d; nkhj;j tpiyf;Fupa Nfhitiaj; jUf. 

  iii. rPdp 200 g, fliy 200 g vd;gtw;iw thq;Fk; xUtu; &. 1000 gzj;ij nrYj;Jthu; vdpd; 
mtUf;F fpilf;Fk; kPjpg;gzj;jpw;Fupa Nfhitiaj; ;jUf.
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 b. milg;G ePf;fpr; RUf;Ff.

  i. 3 (5a - 2) - 14

  ii. 5m (m + 2) - 3m (m-3)

2 3
 c. x = 2, y = -1 , z = 5 vdpd; 4xy  z  ,d; ngWkhdk; fhz;f.              

 

                            (2+2+2+2+2=12 Gs;spfs;) 

06. a. i. 900 I Kjd;ik vz;fspd; ngUf;fkhfj; jUf.

   ii. 900 I Kjd;ik vz;fspd; tYf;fspd; ngUf;fkhfj; jUf.

   iii. NkNy tpdh (ii) ,id ngUf;fj;jpd; tYthfj; jUf.

 b. RUf;Ff.

   i.   12 t  782 kg  +  20 t  537 kg     ii.   8t  75 kg  ́  12

   iii. 15 t   21 kg  ̧   9            

   (2+2+2+2+2+2=12 Gs;spfs;)
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